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Note : (i) All the questions are compulsory. 
(ii) All the questions carnj equal weightage. 

1. Answer the following question in about 
600 words : 

Explain how school is a social system. Describe 
various functions of school as a social system. 

0 R 

Discuss briefly the theoretical perspectives on 
schooling as a socio-cultural process. 

2. Answer the following question in about 
600 words : 

Explain the nature of inequality in education. 
Discuss the strategies taken by the government to 
address inequality in education. 

0 R 

Explain the meaning of social diversity. Discuss 
the challenges of social diversity in education. 
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3. 	Answer any four of the following questions in 
about 150 words each : 

(a) Compare between Vertical and Horizontal 
mobility with suitable examples. 

(b) Discuss briefly, various types of returns of 
expenditure incurred on education. 

(c) Explain the meaning and importance of 
education policy in our country. 

(d) What are the different types of 
knowledge ? 

(e) Explain how language influences human 
thought process. 

(f) Discuss the impact of globalization on 
education. 

	

4. 	Answer the following question in about 
600 words : 

'Education is a process of socialization'. Discuss 
the statement in the light of theories of 
socialization. 
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